3ansaTue Ne/. O0paTHble TPUTOHOMETPUYECKHE PYHKIIMH.

: V4 T . :
1.0mp. arcsina (-1<a <1) Ha3pIBaIOT yroyi o [-E <a< E] TaKkoM, 410 :Sinx =a

dyuk1us apkeHHyc HewéTHas, T.e.. arcsin(—a) =—arcsina

V3, =«

IIpumepl. arcsin g = % ; IIpumep?2. arcsin(—;) =3

2.0mp. arccosa (-1<a <1)naspmator yroir [0<a < 7]Ttakoi, 410 : COSx =a

V2 J3, 57

IIpumepl. arccos7 =— Ilpumep?. arccos(—;) Y

NG

T T .
3.0mnp. arctga Ha3pIBaIOT YroJI & (_E <a< E) TakoH, 4to tgr = a
dyukuus apKTaHrenc Heuérnas, T.e.. arctg(—a)=—arctga
Ilpumepl. arctgl= %; Tpumep?. arctg(—/3) = —arctg+/3 = —%
4.0mp. arcctga naswmaror yrona (0<a < 7)Takoi, 4yto :Clga =a

Ilpumepl. arcctgl = % ; IIpumep?. arcctg (—\/§) = %
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1. BLIYMCINTD: arcsinT2 ;arcsin(—%) ; arcsin? ; arcsin 0 ;arcsin(—%) ; arcsin(-1) ;arcsin(—%) ;

J3

arccos72 ? arccos(—%) ; arccos =~ ; arccos0 ; arccos(—%) ; arccos(—1) ; arccos(—g);

arctgi ; arctg (—i) ; arctgl arctg\/§

NE NE

; arctg0 arctgi ; arctg(-1) ;

J3

arcctgi ; arcctg (—i) ;arcctgl ; arcctg+/3 ; arcctg0 ; arcctgi ; arcctg(-1) ;

NE NE

2. HaiinuTe 3HaYeHUEe BbIPAKEHUS:

J3

a) arccos(sin%); 6) arcsin(tg %); B) arcsin(sin %Z) ; 1) arctg(—sin %) ; 1) arctg (sin(—%)).

3. Haiigure 3HaYeHNe BbIPAKEHUS:

a) sin(arccosl) ; 6) cos(arccos%) ; B) CtQ (arccos@?)) ; ) arcctg(ctg (—%)) ;1) arccos(ctg (—%)).

I_IOHOJIHI/ITeJII)HbIe 3aaHMA .

a) 2arcsin(—§) + arctg (—1) + arccos %

0) 3arcsin % + 4arccos(—i) —arcctg (—\/§)

V2

B) 2arctg (—\/§) + arccos(—%) +arcsinl

I_IOMaIlIHee 3aJaHue:

1. Hajigute 3HaYeHH e BBIPAKEHUS .

a) sin(—arccos %) +cos(arctg (—/3))

0) arctg(sin(— 2?ﬂ)) +arctg (tg (- %))

2. HaiiinTe 3HaYeHHe BBIPAKEHUS
a) arccos(—0.5) +arcsin(—0.5)

0) arccos(—g) —arcsin(-1)

1 J3

arctg (—/3) +arctg0 + arct arcctg ~—
B) g(—v3)+arctg0+arctg NE g 3

YMHuKa.pd



